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Answer the questions below:

Ratio of areas
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Answer the questions below:




1. Segment QR of length r is a
tangent at Q to a circle of radius r
with centre at P. What is the area
of the part of the triangle PQR,
which is outside the circular

region?
fear r 3R Fg Reg p ama
fdl a0 W feg Q@ W R @&
T I@r

| CDS 19 Nov 2017 | 6



2. In a circle with centre O and radius 1 cm, an arc AB
makes an angle 60 degrees at O. Let@be the region
bounded by the radii 0A, OB and the arc AB. If C and D
are two points on OA and OB, respectively, such that
OC = 0D and the area of triangle OCD is half of R, then

Yzl the length of OC, incm, is

%50 Tq 1cm s aret v g9 # v faraB F0
W 60 T3t T For F@rdr 3] AT AT B Bt
OA TF 0B 3iX SflaT AB E@RT ¥ 8% &1 &% R g

AVCLD= Ly an . 5 C 31D FHAOA 31TOB W 38 TR § @ 0C =
g wmg%%&ﬁtﬁaﬁocnommkavmwmm

J_ixlzlx_‘_x‘n ¥ oc N FFETE(cm FH) TaT FA

4+ 2= !

| CAT 2018 | 7
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3. If a wire is bent into the shape of a

square, the area of the square is
81 cm?, when the wire is bent into
a semicircular shape, the area of
the semicircle is:

a) 154 cm?

c) 44 cm? c) None of these




Y/ The perimeter of a sheet of a
paper in the shape of a

_2_17—{- quadrant of a circle is 75 cm.
] v < Y Itsarea (in cm?) would be
2x2EX " yov =5 gq & GqURT F R
L

X - aa At FEer @
7 qi#ATT  75cm @] SHHT

_ 25 3 TP 9dT H|
)Y x25 _ +< a) 100 b) 512.25
£/346.5 d) 693
= ¥=2|~Q
17
ABMXY 693
=3 =3Y6.
P 2 Y6.5

| NBE Jr. Assistant 2015 | 9



4+ A piece of wire is in the form of a

sector of a circle of radius 20 cm,

) subtending an angle 150° at the
centre. If it is bent in the form of a

= 20 circle, then what will be its
=~ approximate radius?

| CDS 8 Sep 2019 | 10



&+ A coconut tree swings with the wind
in such a manner that the angle
covered by its trunk is 18 degrees. If
the topmost portion of the tree
covers a distance of 44 metres, find
the length of the tree.

TH AT &7 98 gar & Y

a) 120 metres b) 210 metres
%140 metres d) 70 metres

11
| SSCCGL T1, 12 Dec 2022 52 |



Z. A railroad curve is to be laid
on a circle. What radius

(approximate) should be used
(\ if the track is to change
{ direction by 25° in distance of
12Q 120m?
< 1 TF AN T fFE g W@
a o™ aer @] feae
\ Y e (rpnfaa) o S
2 TEXT - 10625 6 aRw, AR Yewwt @
6, 120m #r gt # 25° faem
U32.x el &7
Dy ==X730Y o a)300m b) 280m
J - &7‘17 /[275m d) 264m

| CDS 2014 11 | Lz



8. The area of a sector of a circle with
central angle 60° is A. The
circumference of the circle is C.
Then A is equal to:

FET FT 60°F YT F qq F
aFF FT TFAd A gl a?r $r
qﬁﬁl’c%‘la’fAﬂ-TWﬂT%
a)— )—

61 1811'
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q. In the given figure, the length
of arc AB is equal to twice the
length of radius r of the circle.
Find the area of sector OAB in
terms of the radius .

& 71§ wFfa H Aq AB A
mléaaa?rﬁ—mra?rm@
?W%W%lhrﬂ?
Test A RsaEs 04B &1 8%
GIGECAIE Y|

a) 3r b) 2r

c) r? A

14
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Jo. The area of a sector of a
circle of radius 5 cm formed
by an arcof 3.5 cm is

5cm1==|_€lT31a'ﬁﬂ:ﬁaT-r
1o ope N R e

R X 242Lx }‘ AAF AT F
a)17.5  _kj8.75
2 ¢ c) 10 d) Can’t say
RIS

: 15
MP Police SI 27 Oct 2017 S1



' [/ The area of the sector of a circle is
0, @ﬂ“w@ 128cm?. If the length of the arc of
that sector is 64cm, then find the
radius of the circle.

U gd & Asa@s F &Fbd 128cm?
¥ afy 3w PrewEs & ww o
64cm 7, af g #1 B AT Ao

4cm b) 8cm
c)2cm d) 16cm

SSCCPO T1 10 Nov 2022 S3 16



)2. Four equal sized maximum

circular plates are cut off from

— a square paper sheet of area
=784 cm?. The circumference
Q=2 of the area enclosed between

“ the four circular plates is

K\L-ﬂ ggp}mmw

4 wHA T

1 vl J HAFAA HFR F JAHR

() L A B
I IR FamsT|

a)22cm Jf44cm
c) 66 cm d) 88 cm

| | 17



3. The sides of a triangle are 24 cm,

AA'E)C—_ a},(au PN M"Q 26 cm and 10 cm. At each of its

vertices, circles of radius 4.2 cm are

2 2 A drown. What is the area (in cm?) of
| the triangle, excluding the portion
—x2%10 - |Sl41&6‘ \0 covered by the sectors of the circles7’
loof # foreit e C3)

24cm, 26cm 3R 10cm B Eﬂﬁ?

120 yd% i # TaT T 4.2cm
-27.72 frsar arer ga @er oar § g
a:@g’raamwﬁnrmm

92.2% afra]m e & &Ewe (cm?

a) 120 b) 105.86
92.28 d)27.72

| SSC CPO, 23 NOV 2020, S1 | 18
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Find the area of the shaded region:




/Y. ABCDEF is a regular hexagon inscribed
inside a circle. If the shortest diagonal of
the hexagon is of length 3 units, what is
the area of the shaded region.

ABCDEF U& gd & 3HeT Ifha U
A WS ¢l Ile WSHS FT HaW

~

aﬁaﬁaw‘ra-m'é3saﬂ3'q’ra~'r%.a’r
&9 T QAP FAT gl

é

a)g(Zn — Lk )) b)%(Bn _82£>
c)%(61t —%ﬁ> ﬂ%(Bn —92£>

|



/5. In the given figure O is the centre of the
circle with radius r . AB, CD and EF are
the diameters of the circle. LOAF =
£0CB = 60°. What is the area of the
shaded region?

& a$ 3Pl F o vF q@ FT Fw #
forahr B=ar r & AB, cD 3R EF =
2| 20AF = 20CB = 60° §| oifhd
HTT FT QTHA ?

Ar(e-%) w(e-)

2
c) % (n — %§> d) Data insufficient




b The radius of the given circle = 7cm.
What is the area of the (major
— 0A 9{) Sut.— ar ‘%A segment?
@ v @ i Bsar =7om 7 ww
@S 1 AAGT F4T &

A153.42cm*>  b) 180.25cm?
—9 oA q{) Seut.+ an sﬁ AN c)193.41cm? d) 125.58cm?

326 7 o
g’(’%"'luﬂﬂx_\_ =
Z ¢ A X /30
\6 g \2.2¢8
q 153y

| | 2
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